
Defy The greatest common divisor (god) of montero a,bEZ
It

is the largest integer d sit
.
dla and dlb

.

If god Ca ,b) = I ,
we say a ,b are relaticlypnme .

EI.

Defy The leastcommonmultipk-llc.hn) of nonzero a
,
b EZ

is the smallest positive integer sit.

1cm ( 6,15 ) =

god ( 30
,
12) = 6

god ( 8 ,
15 ) = 1 ms 8 and 15 are relatively prime .

M

n
alm and blm .

30
.



Thing For nonzero a.be 12 there exist integers s and t

such that
-

.

Furthermore
, godCa , b) is the smallest positive

integers that can be written as astbt
,
where site 12 .

pivot . omitted.

EI god ( 9,15)

-3
= 9C ) t IS C )

E t

Important note : sit are not unique . Ex : 9=91 It 15C )

[
just know there exists
at least one such pair.

"

at least one such pair.

god la ,b) = aStb .
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2 - I

s t
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/ 7 - 4



Remarks:

i
. In the equation god lab) = as tbt ,

can use Euclidean

algorithm to find s and t
.

* **

*¥* a
,
b relatively

"

prime if and only if there areintegers

*
s and t such that I = as + bt

.

* *

*
*

god
la ,b) = I

[
by 1 is the smallest positive integer .


